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Copy Guided Notes

1. Warm-up/ Homework Questions
Il. Notes on limits o f rational functions
1. Assignments
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Homework Questions

Today's Objectives:
. Estimate limits of function at a point.
. Estimate limits of functions at infinity.

Unit 2 Page |



(-6.-3)

The informal of definiti
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on of a limit is “what is happening to y as x gets close to

a certain number.” In order for a limit to exist, we must be approaching the
same y-value as we approach some value c from either the left or the right
side. If this does not happen, we say that the limit does not exist (DNE) as we

approach c.
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KeyConcept Indepen

dence of Limit from Function Value at a Point

Words The fimit of a

function f(x) as x approaches ¢ does nof depend on the value of the function af point ¢.
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_KeyConcept_Independence of Limit from Function Value at a Point ]
Words The limit of & function /(x) as x approaches ¢ does not depend on the value of tha function af point ¢.
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Let's apply this to rational functions

Sketch a graph and write a limit to describe the end behavior of
the given function.
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For most limits, you can evaluate the function at the given point.
If the point is undefined, you will need to decide if the pointis a
hole or asymptote before determining the limit.

Evaluate each limit algebraically.
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Verify the solution algebraically.
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